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® Most of these mistakes are fixed through
various DNA repair processes.




pair enzymes
, mistakes begin
accumulating at a much higher rate.
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® In eukaryotes, such mutations can lead to
cancer.
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* Frameshift Mutation — Inserting an extra
nucleotide or deleting a nucleotide causes the

entire code to “shift’. Insertions and deletions
/ result in the “shifting” of the genetic code.
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® Nonsense mutation

® change to stop codon
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roteins built incorrectly as a result because

he whole DNA sequence is changed




What caused the original sentence to
] jchange?




Frameshift Mutation

ATG AA GCA CGT

Met Glu Ala Gly
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1\) CHROMOSOMAL MUTATION- ./

NONDISJUNCTION P
/1\> ®Failure of chromosomes to separate during |
- meiosis (cell division)

®* Causes gamete to have too many or too few
chromosomes

metaphase anaphase
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® Most mutations are neutral; they have little or no effect

on the expression of genes or the function of proteins

/3 for which they code.




®* Some of the ul mutations are those

that dramatically change protein structure or

/gene activity.




found in hemoglobin, the

blood’s principal oxygen-

] j carrying protein.




® Envir ate gene

expression (stress, diet, behavior, toxins &

others)

www.youtube.com/watchev=AvBOg3mg4sQ



https://www.youtube.com/watch?v=AvB0q3mg4sQ

